National Testing Agency

Question Paper Name: 85 Konkani 18th Dec 2018 Shift 1 Set2
Subject Name: 85 Konkani
Creation Date: 2018-12-19 13:48:59
Duration: 180
Total Marks: 300
Display Marks: Yes
Share Answer Key With Delivery Yes
Engine:
Actual Answer Key: Yes
FPaper ]
Group Number : 1
Group Id : 913943397
Group Maximum Duration : 60
Group Minimum Duration : 60
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 30
Mandatory Break time: Yes
Group Marks: 100
00 General Aptitnde
Section Id : 913943397
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 42
Number of Questionsto be attempted: 42
Section Marks: 100
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9139431633
Question Shuffling Allowed : Yes
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Correct Marks: 2 WrongMarks: 0

Which of the following is an indicator of key behaviour in effective teaching as evident from
researches ?

Options:

teacher affect In deve[nping teacher-learner re[atinnahip
913943118801,



engagement in learning by students
913943118802, ’

ey, URIAE student ideas and contributions

use of process and content questions during teaching
913943118804,
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In the following statements identify those which relate to ‘Norm-Referenced Testing” (NRT).
Select from the code to give your answer.

(a) Covering a large domain of learning tasks with just a few items measuring specific
tasks.
(b) Emphasizing discrimination among individuals in terms of relative level of learning,.
(c) Focusing on a specified domain of learning tasks with a large number of items measuring
specific tasks.
(d) Interpretation requires a clearly defined group.
(e) Interpretation requires a clearly defined achievement domain.
(f)  Emphasizing description of learning tasks which individuals can and cannot perform.
Code :
Options:

(a), (b) and (d)

9123451158805,

(b), (c) and (f)

913845118806,



(a), (b) and (c)

913845118807,

(d), (e) and ()

2123942118808,
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Options:

(a), (b) ¥R (d)

913345118805,

(b), () 3R (f)

9123451158606,

(a), (b) 3 (c)

913345118807,

(d), (e) 3 (F)

2123942118808,
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In the two sets given below, Set - I provides the different levels of teaching and learning
while Set - II gives their exemplars and concerns. Match the two sets and select from the

code to indicate your answer.
Set - 1
(Levels of teaching and learning)

Memory level ()

(b)  Understanding level (ii)

(c) Reflective level (iii)
(iv)

Code :

(a) (b) (o)

Options:

Q12942113509 (1) (ll) (I_U.)

913943118810, (i) (1)  (iv)

913943118311, (i) (iv) (1)

915942118812 (IV) ([I_I'.) (I_I'.)

Set - 11
(Exemplars and concerns)
Encourages critical thinking based cognitive
interchange

Protects personal interest and attitudinal
concerns

Facilitates recalling and recognizing of facts
Enhances scope for seeing of relationships and
meanings
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Options:

9123451158509, (1) (I_I'.) (LLI'.)

913943113810, (i) (i)  (iv)

9123451158511, [:I_I'.l) ([V) (l)

@) @ @)

2123942118812
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From the following list, identify the indicators of commitment areas of teachers and learners.
Select from the code to give your answer.

a) ‘Do it well” approach
b) Developing contact with community
¢) Enhancing performance in classroom including teaching-learning processes

(d) Concern for the allround development and readiness to help
(e) Acquiring curricular and content competency

f)  Respecting impartiality, objectivity and intellectual honesty

Options:

(a), (b) and (c)

913845118813,

(b), (¢) and (d)

2913942118814,

(a), (d) and (f)

912345118615,

(d), (e) and (f)

913345118516,

Question Number : 4 Question Id : 91394330281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frefafea g=t 4 foger o farnell & afqesa €5 =1 =2=9F SIS | el F2 6 =991 it o
EsEey

(a) ‘SF 9 FH' IJUMTH

(b) HHSE % | Y9 Ml

(c) hemTa foared, o faeor-stfem =6 ufshn i &, 1 sifags &
(d) FaiTor faerre o wid forery = qor gemdar &g qead

(e) Vreaforer wd fawgeng & Hefyd weiomaisii &1 51

(f)  Trouern, sEgfeaar a9 sifss SAMRR &1 99H

%2 -
TR T
soostians (D) (©) ()
sronmanre (@ () ST(D
I C A O RS (5

Question Number : 5 Question Id : 91394330282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following methods of research the independent variable has to be selected
rather than manipulated ?

Options:

Descriptive survey method
913943118817, :

Experimental method
913943118818,

Ex post facto method
913943118819,

Exegetic research
913943118820,

Question Number : 5 Question Id : 91394330282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

MHEfefgd 4 9 9 Y 95d § T=ad =% &1 994 641 941 9178y, 7 T FEta s =993 2

Options:




JUATHE T TGid

2913942118817,

_uﬁmﬂmq@ﬁf

913345118818

_a:reﬂmmﬁr

913342118813

ATATHS I
A1Z294=2118820,

Question Number : 6 Question Id : 91394330283 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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In the list of statements given below which of them offer a suitable definition of research ?
Give your answer by selecting from the code.

a) Research means a repeated search.
b) Research is basically an answer to a question.
¢) Research provides an authentic solution to a problem.

(d) Research is an endeavour to prove one’s hypothesis.
(e) Research is a meaning - giving process.

f)  Research means drawing a sample from a defined population.

Code :
Options:
C b e { -
913943118821, (a), (b) and (c)
913943118822 (b), (c) and ()
913943118823, (a), (d) and (f)
k ~) and
913943118824, (b), (c) and (e)
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Options:

(a), (b) 3 (c)

912345118621,

(b), () ¥R (f)

2123942118822,

(a), (d) 3R (f)

913345118823,

(b), () 3 (e)

9123451158824,
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Ability to see and size up the situation creatively is most relevant at which stage of
research ?
Options:

Slao )] 1 1Fxr1 T el ¥ - "Og = b :
o150az11ames AL the stage of identifying and defining a research problem

a1394311880¢ 11 determining the research design and its execution.

In formulating research hypotheses and procedures for testing them.
913943118827, / >

In deciding and identifying the sampling procedures to ensure their representative

. character.
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‘Research ethics’ is of critical importance in which of the following areas ? Select your answer
from the code given below :

a) Data collecting

b) Preparing a seminar paper

(c) Data analysis
(d) Participation in a conference
(e)  Writing a thesis/dissertation

f) Selecting a research problem

Options:

(a), (b) and (c)

9133431188249

(a), (c) and (e)

2139421188320

(d), (e) and (f)

913342118831,

(a), (b) and (f)

9123451158632,
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(a), (b) ¥R (o)

912345118829
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912345118530,

(d), (e) 3R (f)

913345118821,

(a), (b) ST (f)

9123345118832,
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While presenting the research outcomes and sharing the same with others, in which of the
following research type, the style has to be impersonal ?
Options:

Ethnographic studies
913943118833,

—. .. :" I... - - I--. I--| = I--|
FV— Action research based studies

Causal comparative based Ex post facto studies
913943118835,

Narrative studies
913943113836,
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Options:
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Which of the following methods of teaching will encourage indirect learning ?
Options:
oia9411aas ECTUANG with examples

T'eam teaching
913943118838,

Demonstration on a Subj(-_‘i':t
913943118839

Collaborative projects
913943118840,
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Sub-Section 1d: 9139431634
Question Shuffling Allowed : Yes

Question Id : 91394330288 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuestion Label © Comprehension

Read the passage carefully and answer question numbers from 11 to 15.

In noting the nature of human lives, we have reason to be interested not only in the various
things we succeed in doing, but also in the freedoms that we actually have to choose between
different kinds of lives. The freedom to choose our lives can make a significant contribution to our
well-being, but going beyond the perspective of well-being, the freedom itself may be seen as
important. Being able to reason and choose is a significant aspect of human life. In fact, we are
under no obligation to seek only our own well-being. It is for us to decide what we have good
reason to pursue. We need not have to be a great leader to recognise that we can have aims or
priorities that differ from the single-minded pursuit of our own well-being only. The freedoms and
capabilities we enjoy can also be valuable to us. It is ultimately for us to decide how to use the
freedom we have. It is important to emphasise that if social realisations are assessed in terms of
capabilities that people actually have, rather than in terms of their utilities or happiness. First,
human lives are then seen inclusively, taking note of the substantive freedoms that people enjoy,
rather than ignoring everything other than pleasures or utilities they end up having. There is also
a second significant aspect of freedom : it makes us accountable for what we do. Freedom to
choose gives us the opportunity to decide what we should do, but with that opportunity comes the
responsibility for what we do - to the extent that they are chosen actions. Since a capability is the
power to do something, the accountability that emanates from that ability - that power - is a part
of the capability perspective, and this can make room for demands of duty - what can be broadly
called deontological demands. There is an overlap here between agency-centred concerns and the
implications of a capability based approach. The perspective of social realisations will take us to
further issues central to the analysis of justice in the world.

Sub questions

Question Number : 11 Question Id : 91394330289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Why freedom is seen as important ?

Options:

To succeed in doing things.
913943118841,

To have different life styles.
913943118842, ‘

To understand the perspective of one’s well-being.
913943118843,

To go beyond the perspective of one’s own well-being.
913943118844, :

Question Number : 12 Question Id : 91394330290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Wh}f should we go beycsnd considerations of our own we[[-bemg ?
Options:

T'o follow in the footsteps of great leaders.
913943118845,

To think of freedoms of others.
913943118846

To appreciate that our aims can differ from self-interest.
913943118847,

To be able to enjoy our freedoms.
913943118848, g

Question Number : 13 Question Id : 91394330291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0

What is of no value for assessing social realisations ?
Options:
N—— Capabilities of people

912345118850, Utilities

b g T o
1504311555, NADIIty to use the freedom given

[enoring the values of freedom
913943118852,

Question Number : 14 Question Id : 91394330292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the inherent aspect of freedom ?

Options:

] [ .
: : S0 )
913943118853, Pleasures of freedom

915943113854 Absence of actions

Accountability
913943118855. :

Well-being of the self
913943118856,



Question Number : 15 Question Id : 91394330293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The central idea of the passage is :

Options:

Emphasis on variety of personal issues
913943118857, :

Use of power for freedom
913943118858,

Responsibility for individual happiness
913943118859, :

Need for securing justice to all
913943118860,
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Correct Marks: 2 WrongMarks: 0
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Sub-Section Number: 3
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Question Number : 16 Question Id : 91394330294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
When students place themselves close to certain communication sources, it will lead to :
Options:

913943118561 Source domination



Selective exposure
913943118862,

Negative choices
913943118863,

Impersonal behaviour
913943118864,
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Correct Marks: 2 WrongMarks: 0
Assertion (A) : Classroom communication involves the clear decoding of messages by the

students.
Reason (R) : By increasing redundancy, we can improve the fidelity of communication.
Code :
Options:
Both (A) and (R) are true.
2123942118865,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
913943118866,
'II-| —) -I--' a g
a1za4311886> (A) Is true, but (R) is false
(A) is false, but (R) is true.
913943118868

Question Number : 18 Question Id : 91394330296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fleeting changes that occur in facial expressions of teachers in a classroom are described as :
Options:

Significant - momentary movements
913943118869, ¢

Informational - momentary movements
2123942118570 ¥

Macro - momentary movements
913345118871, 3

Micro - momentary movements
913943118872, /

Question Number : 18 Question Id : 91394330296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fen 1 ferhl 1 g@Etd g/ 1 T2 sAfvsafad o 29 9 eiftre ufieda Fean @ ¢

Options:

Hiefsh - «foreh T
913943118869,
913943118870, TAICHS - 10T e

_ orfiTer T
913943115871 3% Q0T {HCT



e - efforeh Heerd

913345118872,

Question Number : 19 Question Id : 91394330297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the correct sequence of decoding process of communication in the classroom.
Options:
s Evaluation, Interpretation, Sensory involvement, Feedback

Feedback, Sensory involvement, Interpretation, Evaluation
913943118874, .

i s i, Boabusn ; . %
o Sensory involvement, Interpretation, Evaluation, Feedback

Interpretation, Evaluation, Feedback, Sensory involvement
913943118876, :

Question Number : 19 Question Id : 91394330297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

HRITA T ] WG 3 WE TR ST F e i

Options:

913943118873, W’ ﬁéﬂq* E'F-E'I{—Wﬁl‘, ‘Iﬁ"iﬁﬁ
yfaqfte, sf=a-af==d, fra=m, geuisa

913943118874,
SiSeHseare, RS ST, PIRET, SIS, Tfayfte
913043118876, A, HeHlT, W: simd—Hl~l

Question Number : 20 Question Id : 91394330298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the following :

Given below are two sets. Set - I embodies the types of communication while Set - I provides
their exemplification. Select your answer from the code given :

Set -1
(Types of Communication)

(a) Linear communication

(b) Interactive communication

(c) Transactional communication

Code :
(a) (b) (o)

Options:

B13845118877. (II_I'.) (l) (I_l)

913345118875, (IV) (ll) (HJ'.)

(i) () (1)

9133451188749

©  (v) (i)

912345118580,

Set - 11

(Exemplification)

Members are given themes on which they are
required to hold discussion.

A teacher in the classroom presents a
structured content

The principal of a college holds the staff
meeting for understanding their problems.

The teacher and students in a college go on
rampage

Question Number : 20 Question Id : 91394330298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

= < 9= fou T ¥ wg=E - 1 H 99 % YR fou U ¥ saie wyea - 10 H 3T
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(a) Y@ HYwo
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(c) Teranfafasrrd Hhuo

(iv)
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Hewi i fog 7 fawdi == w1 F ol Fe
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U Helgdrerd Y= 394 ATYFRHET & T9
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Options:

9123345118677, (L“') (l) (LI'.)
913345118875, (IV) (IJ.) (I_Ll)

9123451186749 [:I_l) (Iﬂ.) (1)

912345118580.

Question Number : 21 Question Id : 91394330299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In the sequence of numbers 5, 19, 49, 101, 181, 295, «x, ......, the term x is :
Options:

9123451158681, 401

i [l e
)
2913942118882, 01

912345118683,
9123451158654,

Question Number : 21 Question Id : 91394330299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
HE& ATHA 5, 19, 49, 101, 181, 295, v, ..., H T 1 T :
Options:

9123451158681, 401

L |
3

-
913943118882, 21

9123345118882

913943118884 U1

Question Number : 22 Question Id : 91394330300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If NTA14 and NTA15 are 5-digit numbers such that their sum is 157229, then N+T+A would
be :

Options:

15
913943118885,

9123451158686,
913345118887,
9123451158685,

Question Number : 22 Question Id : 91394330300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

afg NTA14 a9 NTA15, 5-37hi arell THT H@ae § foe 9m 157229 &1, a1 N+T+A &1 0F
B :

Options:

Q912942118585 15

21
91z943115886. ©

23
913943118887, <

913345118885, /2

Question Number : 23 Question Id : 91394330301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A’s mother is sister of B and daughter of C. D is daughter of B and sister of E. How is C
related to E ?
Options:

W ‘ -I 5 Ir
9139421188849 blhtt"r s [ﬂ“

913845118830, Aunt

= }
1594311850, Orandmother

10
913345118892, Mother



Question Number : 23 Question Id : 91394330301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AR AAMBH TEAARCH TSI DART BRI I AUME Hisgd ¢l C H E H Ty fwar €72
Options:

aqrefi

9123451186849

=l

912345118530,

T

9133451158591,

9123451158652, 10

Question Number : 24 Question Id : 91394330302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

You have recently joined a new office. Walking at 5 km/hour, you reach the office from
vour house 15 minutes early and walking at 3 km/hour, you are late by 9 minutes. The
distance between your house and office is :

Options:

5 km
913943115893

8 km
913943115894

3 km
913943118595

2 km
913943115896

Question Number : 24 Question Id : 91394330302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A9 B B H fRdt 79w § 9evR uev R ¥ S99 o9 R F 5 et/ Ha & 9 |
TaAd 2 d1 379 15 72 Teet FEed g9 9d € AR afg 39 3 fRel /s &1 9 9 Jed € 1 A
9 fife S | FAfer™ 9g=d €1 TR W H FEed wi gl ¢

Options:
5 Tl

9133451158593,

8 Tt

9133451188594,



913943118895, O Bl
PR

9123451158696,

Question Number : 25 Question Id : 91394330303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
Choose the correct alternative to replace the question mark (?).
42 — 26
/1 —» 78
33 — 16
6

I3

— ?
Options:

68

913345118897,
9133451158595,
9133451185949
913343118300

Question Number : 25 Question Id : 91394330303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

99 98 (?) o ¥UH W &l faehed =1 AU |
42 — 26
5 -3 8

3 > 16

o '

32

6

-3

Options:

913345118897, 68

9123451185595, o4

38
913943118899,



39
913943118900, -

Question Number : 26 Question Id : 91394330304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A cluster of propositions with a structure that exhibits some inference is called :
Options:

An implication
913943118901,

An argument
913943118902,

An explanation
913943118903,

A description
913943118904,

Question Number : 26 Question Id : 91394330304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T ufaafa =3 fSae! 9= $3 1 9H 9 8, 39 el 91 ©

Options:

 Fifed

291539421158501

913345118902, | B

913845118303, ILC2

IEELY|

9133451158304,

Question Number : 27 Question Id : 91394330305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two premises. Four conclusions are drawn from them (taking singly or
together). Select the code that states the validly drawn conclusions.

Premises : (i) Some flowers are red.
(if)  All roses are flowers.
Conclusions : (a) Some roses are red.
(b) Some red things are flowers.
(c) Some flowers are roses.
(d) All roses are red.
Code :
Options:
(a), (b) and (c) only
913943118905 -
D ] f
s13943118906 () and (b) only
(b) and (c) only
913943118907 s
(c) and (d) only
Q9139431158905 &

Question Number : 27 Question Id : 91394330305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

== 21 SER A T Y § 1 2 SHR Al § 9R ey e T ¥ 39 % @ =99 HE S
YT TR &9 H TRl T3 (STYR S Sl 37ehel A9 WY ®9 9 oid gu) ek / frshui =61 gwiian
ZI

FUL A : () PP FA A A €
(i)  ET e e B €
rreere (2) F T T A E
(b) = el L Foed el € |
(©) TS T Tl B B |
(d) |l e e B €
e :
Options:
9123942118905, aﬁa (El), (b) aﬂ-{ (C)

FIA (a) 3R (b)

912345118906,



FId (b) 3R (c)

912345118907,

FAA (c) 3R (d)

9123345118905,

Question Number : 28 Question Id : 91394330306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Consider the statements (a), (b), (c) and (d) given below. Which one of the codes contains
the correct statements only ?

(a) Venn diagram is a clear method of notation.

(b) To diagram a standard form of a categorical proposition, three overlapping circles are
drawn.

(c) To test a categorical syllogism, two overlapping circles are drawn.
(d) Venn diagram is a method of testing the validity of categorical syllogisms.
Code :

Options:

o15045118000 (@) and (b) only
913943118910, (a), (b) and (c) only
913943118911, (a), (b), (L) and (d)
913943118912 (a) and (d) only

Question Number : 28 Question Id : 91394330306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

= =) FeHl (a), (b), (0) 3R (d) W o= Fifsm | Fafafaa § 4 fF9 $2 4 Faa q@& s
oI 72

(a) I ANE Hohad &1 TR I5fd B

(b) et freaifas sarae % 9 €9 H A o oF sifaer 99 T 9 21
(c) Toreht Fer = & odtermn & 1 SAfaeareH 99 g S © |

(d) =7 =@ fordt e =amE 1 WHIoehdl o 949870 &1 U 960d ¢ |

<

Options:

FIA (a) 3R (b)

9138451158309,



FHAA (a), (b) 3R ()

912345118910,

(a), (b), (¢) 3R (d)

9133451158911,

FId (a) 3 (d)

913345118912

Question Number : 29 Question Id : 91394330307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If the proposition ‘No dog is quadruped’ is false which one among the following propositions
can be claimed certainly to be true ?

Options:

All dogs are quadruped.
913943118913,

Some dogs are quadruped.
913943118914,

Some dngs are not quadruped.
913943118915.

All dogs are biped.
913943118916,

Question Number : 29 Question Id : 91394330307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

i 9% Uidara o ‘#iF a7 Fi9r 781 ¢ e 8 a1 (74 8 | g ufaafa & Fived 9 9 98 21
1 g1 T T Hahar €2

| geff S =T |

9123451158913,

FS Fd A& |

9133451158914,

FS Fd T AL |

913845118915,

qoff Fd fguR 21

9123451158916,

Question Number : 30 Question Id : 91394330308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A deductive argument is invalid if :
Options:

I.'| .l-'| I.'| - - 1 . L-|.| '] L'! i
1504311801, 15 premises and conclusions are all true

Its premises and conclusions are all false.
913943118918,

v = v . - - —) - “ -~ -~ -|I = - - v
913043118019 LS premises are all true but its conclusion is false.

Its premises are all false but its conclusion is true.
913943118920,

Question Number : 30 Question Id : 91394330308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fTHATeH: % STYTHITE © 4979

Options:

| S5k YR e e {9 e 2

9133451183817

o1594311501s SR STHR AR Ud %Ry |4l Tad & |

 THE [T SR A Tl 7 T THeRT TR e @ |

9139451185913
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913345118320

Sub-Section Number: 4
Sub-Section Id: 9139431636
Question Shuffling Allowed : Yes

Question Id : 91394330309 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label - Comprehension



The following table shows the percentage of marks (%) obtained by five students A-E in six
subjects 51-56. Maximum marks in all the six subjects 51-56 are 80, 75, 100, 120, 125 and
150 respectively. In accordance with the table given below, answer the questions that follow
(Questions 31 - 35) :

Percentage of marks (%) obtained by five students in six subjects

Ut g 52 S3 S4 S5 S6
— >
Student (Out of 80 |(Out of 75 [(Out of 100[(Out of 120 |(Out of 125 |(Out of 150
L marks) marks) marks) marks) marks) marks)
A 80 i) 76 80 50 65
B 60 70 88 90 65 72
£ 45 65 44 72 72 82
D 50 75 72 84 64 70
E 65 45 68 60 80 66

Sub questions

Question Number : 31 Question Id : 91394330310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The approximate average percentage of marks obtained by student A comes out to be :

Options:

65 %
9123942118921,

74 %
9123942118922,
913942118923

70 %
913942118924,

Question Number : 32 Question Id : 91394330311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The difference in the total marks obtained by student A in the subjects S3 and $4 taken
together and student E in the subjects S3 and 54 taken together, is :
Options:
"

30
913943118925,



913943112926,

913345118927,

- _:
915943115928,

Question Number : 33 Question Id : 91394330312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The average percentage of marks obtained by all the five students together in subject 56, is :

Options:

71%
913942118929,

69 %
2123942118920,

64 %
915943115931,

79%
915943115932,

Question Number : 34 Question Id : 91394330313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The average of marks obtained by all the five students together in subject $1, is :

Options:

48
913943118933

50
913943118934

49
913943118935

31
913943118936

Question Number : 35 Question Id : 91394330314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The difference in the marks obtained by all the five students together in the subjects S3 and
51,15

Options:



483
913943118937

98
913943118938

108
913943118939

110
913943118940

Question Id : 91394330309 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Label © Comprehension

frefafad aifere § ure faanfedi A - E & 38 f99di S1 - Se § Uraiss & 9iaerd &1 g9y 791 8 | 9
fawdi 51 - Se # afararan e &AW 80, 75, 100, 120, 125 91 150 €1 = €F T arfeta & TR
= &8 7 9wl (31 - 35) w1 S SIS

o faenferi g = fawat # wra it =1 wfava (%)
T 51 ) 53 S4 S5 S6
—»

foremeft (F80 |(pa75 |(Fw100 |[(Fe120 |(m@125 |(Fer150
\ sEid) ) [@Faa) [dwAa) |wwaa) |@wid)

A 30 72 76 80 50 65

B 60 70 88 90 65 72

C 45 65 44 72 72 82

D 50 75 72 84 64 70

65 45 68 60 30 66

Sub questions

Question Number : 31 Question Id : 91394330310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

foemelt A R 9T 3R] &1 379d Yiaeid & e ;

Options:

=0/
2913942118321, 65 %

A O
a13943118922, /4%



c O
913943118003 /O /0

0
9133451158924, 70%

Question Number : 32 Question Id : 91394330311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

faeneff A =1 fawar 3 a1 S4 H et Wraieh 3R faenefi £ &1 faw $3 a91 S4 H et raieh 1 3id

Options:

913943118925, 30
36
913943118926,
g
913942118927 28

913345118925,

Question Number : 33 Question Id : 91394330312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fawa Se § Qi ure faenfu=i gro ura f6a T3 siahi =1 3ia wfaed € -
Options:

1 O
913845118929, 71%

Qo
9139431183930, 69%

f I:EI.-‘
913943118931, 64 7%

91334511833 Z.

Question Number : 34 Question Id : 91394330313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
faw S1 | |efi dr=i foenferi g/ ura o3 7 il a1 o9 €
Options:

9123451158933, 45

.
913943115934 U



913345118935, 49

o
913943118936, 2 1

Question Number : 35 Question Id : 91394330314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
o S3 Qe S1 § Qi ur=i foanfi=i g/ ura fohd T 3iei &1 SR € :

Options:

912345118937, 48
9133431158335, 98

2123942113939 108

912345115940 110

Sub-Section Number: 5
Sub-Section Id: 9139431637
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 91394330315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following pairs least matches in respect of Computers ?

:::;13941_ 1 Gigabyte : (1024) % (1024) x (1024) Bytes
913943118942, LCD ; Light Crystal Display

T — USB : Universal Serial Bus
S GUI : Graphical User Interface

Question Number : 36 Question Id : 91394330315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frefafEd § 9§ 91 I8 PG & G99 § 37eqqq &9 § Hel G § 2




Options:

513043118941 | QLSS : (1024) x (1024) x (1024) €ME<H
913943118942, T HLEL. : arge foreee feqw
913943118943, q\maﬁ : ﬂi\rﬂ-:i{-im T =14
913943118944, Gﬁq\m : Pl IS FTHY

Question Number : 37 Question Id : 91394330316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Amit has decided to use either a DVD-RW or DVD-R. Select statements that are TRUE for
these storage devices.

P: Both DVD - R and DVD - RW are read only.

Q: DVD - R can be written to only once.

R: DVD - RW can be written to many times.

S: Both DVD - R and DVD - RW can be written to only once.

Options:

P only
913943118945. J

=98 )
9123451158946, > [11[}

P and R only
9139432118947 2

Q and R only
913943118948, ?

Question Number : 37 Question Id : 91394330316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



9129421184945, | ‘Eﬁ-
Had TH.

9123345118546

_Wq"r.afr{m

2915942118847

9133451185948

Question Number : 38 Question Id : 91394330317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The following list indicates different types of computer networks. Arrange them in an
ascending order on the basis of geographical space implied.

Options:

913943118049 LAN, WAN, MAN

13943113050 VVAN, LAN, MAN

MAN, LAN, WAN
913943118951,

LAN, MAN, WAN
913943118952,

Question Number : 38 Question Id : 91394330317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frefafad g=i § Feze q2aad o fafa= Rl 1 9 ™1 €| 3¢ siafiied sl hehe T19 &
YR W AR A H Faferd sifau |

Options:

AT T, TGO, TR T

2123942113949

- S LA, T G, THEEA.

913345118350

CUHETA, Tl U, esd T U

2153942118851

TR, TR, s L.

913345118352



Question Number : 39 Question Id : 91394330318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Computer peripherals are external devices connected to a computer. Which list contains
input peripheral devices ONLY ?

Options:

Speakers, Scanners, Mouse, Modem
913943118953,

Keyboard, Projector, Mouse, Flash drive
913943118954, o) DOArd ] ’ , e

.'....,’-] ,’ L-. ..1.- ,--) ,’ L. -‘... - -1." - l,... 3
913943115955, Microphones, Track-ball mouse, Scanner, Touch screen

Laser printer, Graphic tablet, Barcode reader, Hard disk
913943118956,
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Options:

~ Ly = E -
213942118953 SHlens, S0, llg“»'m

-

FHiare, Ureael, A1SH, TI 2Ed

9123451158954,

OIEshIhIg, doh-did O13d, ThY, 29 Shid
912942118955

= ! [ w - - r
1
13943118955, s A=Y, dlithen csiele, SR shls iy, are fem
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Read the following spreadsheet (MS-EXCEL) :
EXCEL Spreadsheet

A B C

10 | 16
20
8
12
5 0

e o B L

The equation in cell B2 is = A2+ BI.

This equation is then copied and pasted to cells B3, B4 and B5. What should be the value in
B5 ?

Options:

912345118957,

24
913943118958,

9133451189549,

913342118360,
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frmfafad Tevie (TH.0E. -Tsd) &l 9feu :
T WEie

A B B

10 | 16
20
8
12
0
T B2 § FHIE § = A2+ Bl.

THF S1E HHIHIOT &1 hI9T fHIT ST & 371 B3, B4 31 B5 § U2 &2 fad1 a1 €1 B5 1§ =41 21
=ifed ?

Options:

Ul =] || —

36
9133842118957, -



913345118355, 24
9138451189549

913345118960
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The tsunami that occurred in south and south-east Asia in December, 2004 was caused due
to :
Options:

An earthquake
913943118961,

A volcanic erupti(m
913943118962,

A hurricane
9139432118963,

A tropical cyclone
913943118964, :
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fedaR, 2004 | <feqor a1 Sfeo-ga TR § SHA1E GAHT 1 SR o

Options:

9133451158961, 1{

913943118082 HCILSI <hl THehed I

913345118363, 3T ( 5|{ch-|)

- SUTH{HHR THM

913345118564
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Which of the following gases initiates a chain reaction that breaks-down ozone in the upper
atmosphere ?



Options:

Nitrogen dioxide
913943118965,

Carbon dioxide
913943118966,

Hydrogen sulphide
913943118967,  °

Chlorine
913943115968,
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Options:
913943118965 WRGISIT Sleddladlzs
913943118966 Tio Sleatladlzs
Wi
913943118967, Q= 11 MRS

2129421138968, Al I
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High level lead (Pb) exposures in humans through inhalations or food consumption may
cause :

(a) Mental retardation

(b) High blood pressure

(c) Disorder of central nervous system

Select the correct answer from the code given below :

Options:
913943118969, (a) and (b) only
s13943118070, () and () only

913943118971, (c) and (a) only



(a), (b) and (c)

91334511897 Z.
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(a) WM HeA
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Options:

Fad (a) qT (b)

9123451189649

Fae (b) AT ()

912342118970

e (c) 91 (a)

2913942118371,

(), (b) T (c)

913345118872
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In a human population, which is undergoing the demographic transition, which of the

followineg ¢enerally decreases first ?
5 N ] o

Options:

Life expectancy
913943118973, . '

Level of education
913943118974,

Death rate
9139432118975,

Birth rate
913943118976,
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qHa SEE g sHifwsE 9itad 8 @1 8, ama: fFreafatea § 3 fFad 999 ted g ean e ?
Options:

_EﬂEHWT?H

2153942118872

9123451158974, ﬁ”&:" bl

913345118575, i a <

2913942118376, ! <X
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Assertion (A) : The ecosystem surrounding a river gets damaged due to construction of a
dam.

Reason (R) : The area gets inundated with large volume of water.
Choose the correct code :
Options:

Both (A) and (R) are correct and (R) is the correct explanation of (A).
913943118977,

o15045118975 DOt (A) and (R) are correct, but (R) is not the correct explanation of (A).

o13943118979 (A) 15 true and (R) is false.

. (A) is false and (R) is true.
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AR (A) :  THEl 7€ F 3E-TE 1 RFefas! 9 S 9 999 9 aifqus 21 ¢ |
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F@Wﬁﬁa :

| (A) 3R (R) TFT 9&l € 3R (R), (A) F T A=A © |

912345118977,

) 3R (R) SHI |1 %, Tohd (R), (A) 1 T =A7=AT T2 ¢ |

913345118975, (A



(A) T& T 3R (R) Tord 2|

913345118979

(A) 7T 3R (R) H&l T

913345118980
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Which one of the following has larger scope for the possibility of hands on experience ?
Options:

Seminar
913943118981,

a13a4311805 cONference

Workshop

2913942118385,

Symposium
913943118984,
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Options:

913845118951, q “ 5'
912345118982, 1 g

FHTIIITAT

9133421183983,

THd

9123451158954,
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Which one of the following is less oriented towards knowledge dissemination ?
Options:

913943118985, Seminar



Classroom

913943118986,
1 T -

s13943115057 11eld work

313943118983 Journal
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Options:

LU LSt

913845118955,

9123451158986, h% |

E-EEIC]

9133451183987

913943118983, AT (STe)
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Which of the following body is empowered with the role of appointment and approval of
teachers in a University System in India ?

Options:

Board of Management/Executive Council/Syndicate
913943118989 0 .

a139431 18990, ArCademic Council

Board of Studies
9139432118991,

University Court/Senate
913943118992, .
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ad ¥ favafaame™ usfa § el &1 fgfaa 9o s/ & fad fafafaa 4 9 faa fem =
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Options:

Sigeisiiaony, WA Hew (dre 3% HASHE ) /hIERR] Uﬁ'ﬂﬁ/mfgﬁfar

913942118330, ;\
RICRRSIIG

9139451185931

vt #e/d9re

9133451183992
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Which of the following is entrusted with the responsibility for coordination and quality of
higher education in India ?

Options:

“ouncil o 1
SO Bar Council of India

L-|I.-| ]—|. - 1’ 1’ ‘-' = T II-'|lI L I.-|
T —— Association of Indian Universities

University Grants Commission
913943118995 :

NITI Ayog
913943118996 -
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yd o 3= e & 9u=g a9 Tureen & foer fed | e g2

ARG Ty TR

9133942118332

[

rdrdg favafa=ad 99

9133451158994,

farvaferane™ 3eH ST

2913942118335,

i

9133451185956
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Who is the administrative and academic head of Indian

Options:

Chancellor of a University
913943118997 2

- e — - w . = .
AO— Vice-chancellor of a University

Registrar of a University
9132943118999, -

Dean of studies in a University
913943119000, /

University System ?
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913943119001, AR ST Sr

A= SR Srevif
913942119002

uq A Tl
9139432119003

HArsTaTd T3EH
9139432119004
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9123451139001, i

Zart = Freff
913943119002



Tt Tl
913943119003

AT T3EH
913943119004
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qfefat erach Hiwoh s sat s arE sfiga Hieh st s g wE @t Srea aw.
(a) =r@g (i) &t

(b) #fa=g (i) &t
(c) Fore (iii) gIM
(d) fatfes (iv) TrEd
(v) HIEr®
Options:
(a)—(ii), (b)—(v), (e)(i), (d)—(iv)
913942119005
(a)—(iv), (b)—(1), (e)—(v), (d)—(ii)
913943119008
(a)—(iii), (b)—(iv), (e)—{ii), (d)—(i)
913943119007
(a)—(v), (b)(iii), (e)~(i), (d)—(ii)
913943119008
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(v) Hieie
Options:
913943119005 @D (=), (€D, (d)(iv)
913943119006, 2V (=D, (@~(v), (D)

(a)—{(iii), (b)—(iv), (e)—{ii), (d)—(i)
9123943119007,



(a)—(v), (b)—(iii), (e)~(1), (d)—(ii)
913943113008,
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RYHEA Hreft — A°qT g4 B HAgayH
9139432119017, =

TAEHUNTE HIGHTE — Yeefls A14% gredl Hagagr
913943119018,

LI FIHISHA — Tt T a1 HAgad
913942119019,

i1 FrhighR — T8 Yirad Hiad gred1 FAgauH
913942119020,
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9133451139025,

9133451139026, b
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18 =81 40
2913942119156, W40 &R

Question Number : 89 Question Id : 91394330368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0



3.9, 1991 Foi=a1 FHTUHTHTY Fiwvft Wiy dtwrt g8 gem feaet snfig 7

Options:

17 =& 60
913345119153, W 60 &

15 =& 66
913845119154, W 65

14 =& 50
9123345119155, W S0 &

18 =& 40
9123345119156, 40T

Question Number : 90 Question Id : 91394330369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“gia aael A Far fgaa
Aot wre @e @ fewaet 27

& Fiaddedl aeiid @It Tegreieh TET ?

Options:

913345119157,

9123345119155,

9133451191549

912345119160,

Question Number : 90 Question Id : 91394330369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“eia Tl A A R

o1 q argedn e wd { fgaat v

2 Hiadaedl qeid WaE! VegTeihr T 7
Options:

913345119157,

9123345119155,



9133421191549

912345119160

Question Number : 91 Question Id : 91394330370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AThiaTa SR Bred1 “WISEa S Goltadt §41 ATcadredracd] savh! 31 9T HTe4Teq Iaray
g4l Bl o4 Areg 9.

(@) “gim A fore g8 e g =499 W e () TowEn
FET AT @ Fardar

(b) Ty Forromi araeaT=at 7t ATt garh fisty () F4
et ot weft st

(c) ‘mmﬁqﬁﬁmwﬁqﬁ[gﬁ (i) TdHT
I S g A

(d) “sfrefer frea @i wesht feg wrafigy Fordgmma (iv) EaATad!
1 s g em-Er

(v) <aart
Options:

(a)—{iv), (b)~(1), (e)—{w), (d)—{ii)
913943119161,

(a)—(v), (b)—(i), (e)—(ii), (d)—(iii)
913943119162,

(a)—(iii), (b)—(v), (e)(i), (d)—(iv)
912342119163

(a)—(ii), (b)(iii), (e)—(v), (d)~D)
912342119164

Question Number : 91 Question Id : 91394330370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



AThrarg FITHL Bred1 “WiFdra 71 “Goftadl’ g4 Arerwearacdl sahl A 919 Fedred Iwray
gredt wral w9 AEgt @,

(a) “gin A feea 3qm@ e g =789 W owe () Tow@n
FeT TG @ FardarT

(b) S s araeaT=at @t ot gaEr fisn (1)
et ot vgeft STt

(c) ‘mmﬁqﬁwwﬁqﬁw (1ii) THET
BT S TR R A

(d) “vrefer forem @i ot Resa dafigy fgmm (iv) FmET
a1 i e g

(v) sEamt
Options:

(a)—(iv), (b)~(1), (e)—(v), (d)—{ii)
913945119161,

(a)—(v), (b)), (e)(ii), (d)—(iii)
913943119162

(a)—(iii), (b)—(v), (e)—i), (d)—iv)
913943119163,

(a)—(ii), (b)—(iii), (e)—(v), (d)~(1)
913943119164,

Question Number : 92 Question Id : 91394330371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TRV Tl VG Uy wirhaa el “weeft’ =it savEn wior e ?
Options:
913942119165,

TIgCT FaeHT

2913942119166,

913345119167,

913342119165,

Question Number : 92 Question Id : 91394330371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
“TEUT TR S Iy wirhaa arefl “rgoft’ =t savEm it S 2

Options:



913345119165,

912345119166,

913845119167,

212942119168,

Question Number : 93 Question Id : 91394330372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

“MTSId A& TE TS IU FHTEATG S AE] WE He 37 AT,
T fegan areiaet

Options:

qatd = I Tt
913943119169

gatd sitet ooy g%
913943119170

ElEe L
913943119171, T

CIEE
913345119172, R ™

Question Number : 93 Question Id : 91394330372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

“MTSTd 298 TE TS IU7 FTEATT S AE W He 3ff AT,
g fega araraet

Options:

gattd e Ierd atran
913943119169

qatd sttt e o=
913943119170

a9 T
913943119171, i

EIEE]
913343119172, R ©



Question Number : 94 Question Id : 91394330373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“ITOT IOT HTAFT AT,

Yh qTeieh HIE 1 |

afa 2fe g # oft,

urfg wife Farf,

warfy e, wifg = st 117

T fegat o=t wa=a FesTaea Sievlt Feahedt AEE 2
Options:

Hromaeerfines

913345119173,

2913942119174

913343119175,

913345119176,

Question Number : 94 Question Id : 91394330373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“YTOT IHOT HAAFT AT,

Wh UTeish H1&T SR |

afe 3fe amamg + oft,

aif arfe warfae,

wafy ey, Wity = w117

T fegat o=t wa=a e Sl FeamHedt MW ?
Options:

Hromraeerfines

913345119173,

gt e

913845119174,

2123942119175,

913345119176,



Question Number : 95 Question Id : 91394330374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FATTH=AT AU IGHM WA 18 G GAATGS A alhcd &1d AlS
# et s aTaRiA A e 2

Options:

913345119177,

212942119178,

9133431191743

2913942113180

Question Number : 95 Question Id : 91394330374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
& At G AN AAEh Hesel ?
Options:

913345119177,

913345119175,

9123451191749

9123345119180

Question Number : 96 Question Id : 91394330375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

“The Mind of Mahatma Gandhi' &1 J&qerat shiwofl FIHR Ho Ferl ?

Options:

2913942119181,

913343119182, THA



i1 g IR
913943119183

THEE AR AT
913943119184

Question Number : 96 Question Id : 91394330375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
“The Mind of Mahatma Gandhi’ &1 J&qhrat il OISR ol FHel ?

Options:

FRFN
913943119181, s

913845119152, T

HUT1 g AHITHR
913943119183

THEE AR AEF
9139431191584

Question Number : 97 Question Id : 91394330376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘Jeeiteh HUIta s, 44 qt o5 aihrat airadt fawmar.”
Tt faen araraat

Options:

qat sttt I90d 9%
912942119185,

qatd = I Tt
913943119186

a9 Tl
913943119187, T

EIEE]
2912942119188, R ®

Question Number : 97 Question Id : 91394330376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘Yeeiieh TUdtE s, 49 @t o5 arhreE wtadt fawar,”
Tt e araiaat



Options:

qatd sttet Iy g%
913943119185

qate e I st
913943119186

199 Tl
913943119187, T

CIEE
912345119185, R ™

Question Number : 98 Question Id : 91394330377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

i1 FrehigHR a1 TR Fagr w1 FUTEeATded! ST A qidelt U g Sat o4 Aredt |,
(a) Fordt (i) wdre

(b) 3G, (ii) WTER 70T
(¢) M (iii) TS
(d) ¥md (iv) Tt
(v) Sqar
Options:
(a)—(ii), (b)—D), (e)~(iv), (d)—{(iii)
913943119189
(a)—(iv), (b)~(v), (e)(D), (d)—(ii)
913943119190
(a)—(v), (b)~(1), (e)=(iv), (d)—(ii)
913943119191,
(a)—(iii), (b)—(iv), (e)—(1), (d)—(ii)
913943119192

Question Number : 98 Question Id : 91394330377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HAT FrhtsHi BT ST Sagl o HUTHeATdedt HUT A Tiel 9T gredt Brat ot Aredt |,
(a) Fordt (i) wdre g

(b) g, (ii) HTER TEUE
(¢) e (iii) TS
(d) md (iv) Tt

(v) 3TgEarE

Options:



(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
9123421191839

(a)iv), (b)—(v), (e)(i), (d)—(ii)
913345119130

(a)—(v), (b)—(i), (e)—(iv), (d)—(ii)
9123345119131,

(a)—(iii), (b)—~(iv), (e)—(1), (d)—(ii)
913345119132,

Question Number : 99 Question Id : 91394330378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
(i) TiiaeromEt T, wurere, AdEYT ATETT.
(ii) et FmmorRea gaifas s,

a9t fega arsiae
Options:

(i) =l (i) I
913943119193

(i) o (ii) TR
913942119134

(i) AT (i)
913943119195, qg

(i) 2Rt (i) =
913943119196

Question Number : 99 Question Id : 91394330378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
(i) TiawoEt T, SuTere, AIEYT ATEGT.
(i) Ttereprorat fmmorRes gaifas sArEdr.

T fegan aramad

Options:

(i) =l (ii) IR
913942119193

(i) e (ii) alia
913943119194

(i) At (i)
913943119195, o



(i) #ft (i) =T
913943119196,

Question Number : 100 Question Id : 91394330379 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gae fega Ffadaen sesaiae fovft 9=’ == 7

5@, 4, e
11 feas dica
fart ames 3o

Options:

g1 el atg

9133451191597,

HAHA g4t Yaan
913943119198

AT 5L g
9139432119199, e

913345119200,

Question Number : 100 Question Id : 91394330379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gae fega Ffadaen sesaiae fovft 9=’ == 7

Options:

g1 el atg

9133451191597,

HAHA g4t Yaan
913943119198

AT gt g
913943119199, e

913345119200,

Question Number : 101 Question Id : 91394330380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e ? I T AN At TS TR BT HeATded St U
IET AUTIETE Fed AT

Options:

digdare, andfawars st dfes geram
913942119201,

AEdTEre, THaE AT SfaarEt
913943118202

AEHAaTE, digHare A THETE
913943119203, x4l

Higdarg, AraEdER FAH TEETEEE 397 Ji
9139432119204,

Question Number : 101 Question Id : 91394330380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

" * /I TR AR At TS TARR g Sredided ST U
I HMETE HeId AT

Options:

Higdare, ardfawary st &fie gowm
913943119201,

qEEaTErE, THaE A gfaarEt 9
913943119202,

A, Higdarg AT THETE
913942119203 x&l

dfedare, AmadEre A WRATEEE 39 /i
913943119204,

Question Number : 102 Question Id : 91394330381 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Treifvefagmia weh qiat smamaTg swan @ sngHwararga smmaTgrEt s e

T feg arm
Options:
913943119205, g = ©
qated e Ierd atra

2123942119206,



T "
913943119207, T

EIEE]
913345119205, . ©

Question Number : 102 Question Id : 91394330381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freifoefirgmia wh ai=t smamarg st g syfremdrargra sramargrEt svre fegn.]
T fog ar

Options:

gatd sttet ooy g%
913943119205

qate = I st
9139431192086

T Tl
913943119207, T

EIEE]
913345119205, S ™

Question Number : 103 Question Id : 91394330382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
R 7 M | 1 [ s [ T P T ATHaCT=aT ITTFHIE ATEATET.

Options:

913845119209,

9123345119210,

2913942119211,

913943119212, &

Question Number : 103 Question Id : 91394330382 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘HihE® B wihdgIde! HelTHehRT BT Arhder=aT IR TEITE].

Options:



913943119209
913943119210, ST
913943119211, el

913943119212, -l

Question Number : 104 Question Id : 91394330383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
gaae fog Eae Ia Sl ggeraar s s 2
Options:

913342119213,

913343119214,

913345119215,

ECEER]
9139431192186

Question Number : 104 Question Id : 91394330383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
g fog Eae Iat Sl ggeraammm st s 2
Options:

913345119213,

9123345119214,

913845119215,

ergraft
9139431192186

Question Number : 105 Question Id : 91394330384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



STt Bt 1w, w7

“SeaTTa gl Av) el Adeh STl

G Tihdg ehrid a9t fegt dargrenes Tt sargar ?
Options:

913345119217,

9133451192145,

9133451192149

9123345119220 o

Question Number : 105 Question Id : 91394330384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

St HgAt t wEnEn, Fwadt swes 1.7

“arria gt Ao R Aeeh 1.

GI=1 wishag Fehrd a9 fegt darerers = aEan ?
Options:

2913942119217,

913343119215,

9133421192149

9123345119220, ot

Question Number : 106 Question Id : 91394330385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Options:
413943119221 o
i

913345119222,



913343119223, w

913345119224,

Question Number : 106 Question Id : 91394330385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Options:

g

913345119221,

Cal

913345119222,
913345119223,
913345119224,

Question Number : 107 Question 1d : 91394330386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“htepoft v & iR mergett wen s’ § Sl wremedE we s 2
Options:

913845119225, &

L)
9139431192286, i

913845119227,

S G TS
913943119228,

Question Number : 107 Question Id : 91394330386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
“ehiehult WA & S TS W ST § il WrIEaHE wq wins ?
Options:

9123345119225, &



Arre iy

913845119226,

2123942119227,

gL ZaT IS

913345119225,

Question Number : 108 Question 1d : 91394330387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
“re Higpelt TaTE Hifo gfEd S 2 gigelt Aa o |, d 4 S wiedr, ¥ Ia fefar wrEs,
S wrE - R 5 arma, o 9, Hier o e, 9wl fEfm Ia <, oif, wita afem s,

Sroswolt g1 S, g witee, g feEi. e I Fe, ngfere Fhead o qraay fo - 30 i
St 73 o, § et e o, e e el A

aa fegt ATt giqdedn @a=a Uyt a2
Options:
Cardt wwy atevit
413943119229
‘o arratfre sreat’
913943119230

913345119221,

913845119232,

Question Number : 108 Question Id : 91394330387 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“aTai et TiaTE wifor gt w% 2 dgigelt Ja A 3\, 9 g1 Iaue e, ¥ Iat fEfE wEeE, 3w
s wrEe : FEfET & omma, o 3, Wi o amw, F wSt. FEfE I <, difa, wita afgm e,

Soromroff 3 sata, < wift, 3 fdh. Fie sa A, smyfe FREA A qraag fia A0
gigpadt Ara o 18, 1 Ffed vefedt gifid, et wea fefdaa a”

T fegt samt gigae @a=a uyTAet AE ?
Options:

Gart wHy et
913943119229

“arg At sreat
913943119230

913342119231,



2913942119232

Question Number : 109 Question Id : 91394330388 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘@l : w wuateat w7 qut=at’ T gERaed dard gt IaTeft @ Antearaea™ At
I Gelided™ Agt ?

Options:

AT — YTatd
913345119233,

T — FHgla

913342119234,

913943119235, T — &

TseHd — GHR
913943119236

Question Number : 109 Question 1d : 91394330388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
“Eatt : F1g At FE AT T GEIRGER d@rE Teft Iqarevlt @ AnredTded At
EI=A1 HeldedH Ayl ?

Options:

AT~ — 9Taid
913345119233,

M= — gl

913345119234,

913943119235, T — T

TseHd — §IHR
913943119236

Question Number : 110 Question Id : 91394330389 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“Forapoft’ gn weifgmy 2 BT SFuTSEATE il ST Fol Fr ?

Options:

2913942119237, =



FEATR TaTes I

913845119235,

TR wETE

913345119229,

g it
913943119240

Question Number : 110 Question Id : 91394330389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“Fravft’ & gy T g SUTsieaTEt Hiwvlt FURR FO Hat ?
Options:

9123345119237, il

TRl TSIl
912345119235,

FAEWE TEHE

913345119239

g ol
913843115240

Question Number : 111 Question Id : 91394330390 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“uifaaTeaTt ghen’ et FreAGTH SATEA! Bigaedl WA FAUEARA Fedl ?
Options:

2913942119241,

913345119242,

913343119243,

2913942119244

Question Number : 111 Question Id : 91394330390 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“pifaaTeT ghen’ et FreAgTE SATEA Baeal WA FEAUARA Fedl ?

Options:



2123942119241,

913345119242,

2913942119243,

2123942119244,

Question Number : 112 Question Id : 91394330391 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘gerTeas SrguafacEl st wuft ‘wied W10 g6 FS@e wqdet @adt ?
Options:

913845119245, 1846 3 1896

2913942119246, 17871 1832

913345119247, 17923 1867

9133431192485, 162119 1864

Question Number : 112 Question Id : 91394330391 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“AerTeae STgRafaTEl ST wft ‘Wied W19 g6 HS@s wqdat @adt ?
Options:

913345119245, 1846 3 1896

913342119246, 178713 1832

913345119247, 17923 1867

9133451192485, 16219 1864

Question Number : 113 Question 1d : 91394330392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“grs forgta & deheaar Taell 1827 9rd v wige! ?
Options:

9133421192449

A grEEA
913943119250,

913342119251, e

Heq 3Hies
913943119252,

Question Number : 113 Question Id : 91394330392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘ged fadtat & devew ugelt 1827 @ia it wigeft ?

Options:

9133431192449

8913845119250,

913345119251, e

Heq 3Hles
913943119252

Question Number : 114 Question Id : 91394330393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘Sihedt 3w Htfeer foretat & e wRaTTe @E=a WA AT FA gE ST
Options:

TRl B 3.9, 1981 F4t
913943119253

[Tl 3.4, 1979 I4f
913943119254, R g

[Tl 3.6, 1980 S4i
913943119255, feghh wm %

ferearagee g 3.9, 1984 Fat
913943119256,



Question Number : 114 Question Id : 91394330393 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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‘IFpert a1t wifees et & v wnaTaen @a=E AW S FA gE e,
Options:

TRHL g7 5.9, 1981 F4f
913943119253,

7Tl 2.9, 1979 941
913943119254, R 3

[T 5.9, 1980 F4f
913943119255, fegh m ¥

fere syt g 5.9, 1984 54t
913943119256,
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SATEAT IV FHeT ?

Options:

HAHE T
913943119257,

913345119255, T

9133451192549 ad

.U, T

2123942119280
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‘e Aifee Teed ATaursd aifecarea eyt sfrera e smEn,” srft gereTs anfgersht
STEAT v hedr ?

Options:
G Tt
913942119257,

913345119255, T



2913942119259

T T, T

912345119260
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‘Gftr Tgea FIBH, T@HAT FAE Wi GHOE 979 Yot 765618 e
Options:

3 o aneEEy g e
913943119261,

913345119262, T Al

Framea guaftaara=t e
913943119263

FTae gaftaart wraA
913943119264
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‘gfte TgeaT FIBH, TEHTAT FAE Wi GO 979 Hadt 7976 WeAn
Options:

3 o aneEEy g e
913943119261,

913345119262, T Al

Framea graftaard=t s
913943119263

FT9e gaftaart wraA
913943119264
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SN B IT WA FUEH! THCAT AT qC e ¥ Iq WA eehd e I Aoq A ?
Options:

913345119265, e



913345119266, ®s

913343119267,

913345119265,
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SN B IT WA FUEH! THCAT AT qC e ¥ Iq WA eehd e I Aoq A ?

Options:

913345119265,

913345119266,

913345119267,
913345119265,
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BTl FS Fa7 T v 37
Options:

e Fgear wHelt Bt Fau
913943119269

BIEed Fe da
913943119270

Bt q9d Fe T4y
913943119271,

913345119272,
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BTl FS Faw TN ArpEnrE 3o

Options:



e Ag=a1 Tt et Fau
913943119269

BIEeT FS I99
913943119270

w1t q=d Fe T4y
913943119271

913345119272,
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‘St Tk F01 F0 Fat fomar st wuen arEt wfa Foey S 90 § e wean sl w@efta
arfugt sreqmedat rfaser sfad= faeiwda ool ol o= wdftdgaum ‘Fieoft afee ofsl &
qEIRIaed] TEid Faeei ?

Options:

T SFEHR

2913942119273,

913345119274,

g.4. qehie
913943119275

913345119276,
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‘e TR F0 F9 Fat fomar st vuen art wfam Fowy S 90 § e wem siafn wefta
arfergt smerEdat anfaser gfed ety g ont wuem SetdauE Fiwel gifae Gflt @
qEdehided] S@id Teee ?

Options:

T

913345119273,

913345119274,

g.4. Tehie
913943119275



2913942119276,
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“hieruftean warfirromr=ht game fame fame arenrmeas seares Fadt Smreart wraet =1, w
forafersfi=ht arfaram srmaeh s aifee Fefte ot araet’

. fega faumma

Options:

A I i
9132943119277, g a

gatd sttt oo g%
913943119278,

qatd s Ieroe i
913943119279,

A I
913943119280, ll REh
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“iviteat srfrRvTt g3aTg fare e areniaea IwareT Fadt Tt wraeht a1, A
forafersfieht arferama sraeht st afee Fsivrer wrl araet’

T fggan fumra

Options:

A Feod EnE N
913942119277, Rl a

gatd sttet ooy g%
913943119278

qate =k I st
913943119279,

A Feod
913943119280, g W
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ATHTETE TR ST wqad g @99 ?

Options:



9133421192581,

913345119282,

9133451192583,

9123345119254,
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ATATETE TR STg gigad g g9 ?
Options:

913845119281,

913345119282,

913345119283,

9133451192584,
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‘STl g Eichagrat YRR Hateh yoATH ifecdte sifirEdt StauTs a1 arStauTe Sents Ag
arfgerysn =g9.” Hro

Options:

dArFRmrat g grigadtat SHoE ST ST,
913943119285

913345119286, ’

it qasrat ufatfines gadla adma=an sara e,
913943119287

SRRl SR dT FedTh !,
913943119288
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“EAtehenroft’ Bt FieRagrat YR Hesreh Yot anfeeften sfiresh st a1 arstaurs e afigt
arfgcashit =g4.” HR
Options:

wAreRRTorT gt aeiEeEd= I e .
913943119285

913345119286, ’

it gesral ufadfienss dadta afme=a ward smaet.
913943119287

913345119285, ’
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e ggi arel =aers
Y AHeEl
TS ATHAA! ~29-oaTT,
THETATEAT QU FHE A IF@B

& giadd sty T’ § Iav fehgarean wfehrea s smget ?
Options:

912345119289

913845119230,

913345119251,

913345119232,
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@y a9t Arefl T
Y ATt
S AT ~29-qTel,
THETATAT [ EHE g ITBT

& Biada anfig Tus’ & Ia frgarem wfsrem sum amgen 2

Options:



9133421192849

913345119230,

913345119291,
91334511925Z.
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gt gt o g = @E= Y e ?
Options:

Sl

9133451192593,

9133421192594, E{?ﬁ

.W@

9133451192395

arfesie gt
913943119296

Question Number : 124 Question 1d : 91394330403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
gt gl o g = @E=A Y e ?
Options:

Sls el

913345119233,

913345119254, L

.W@

9133451192395

arfesie gt
913943119296
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S wrTHE 90T SF IAU HEwaTE ATEAT = HHIETR wgverd.’

Options:

fgm wmma

9133942119297

9133451192395,

qogey THH
913345119299,

4% a9
913943119300
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ST wraTHtE AT ST IAU HevaTE SATEAT = HHETR wgverd.’

Options:

fgm wwma

913345119297

913343119295,

qoqey THTH
9133451192549,

2 °uTE
9139432119300
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“qra| TSet i g ddeird
&1 AT AT @ TR e ?
Options:

913342115201, s

913345119302, o

9123451159203,



fertreresft arm

9138451159304,
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“gTed e oi g daaie
1 ATFETeR AT @I TR FRUerd ?

Options:

913345119201, s

2123942119202, o

913343119303,

ferttargsff arm

29139421139204,
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W it <t wfermgee &t arh wea faarh weliveds mam fga.”

(1) foer’ €t areqagll Fel G FASHER T ELET G aqcql.”

(i) ‘et 7 =t Afiveagua T AR AT AT HieEs A Fidia wewT

(v)  “ ‘it wfaa reeam qigaean wishe id TG Hiads Chd Fadn Graar dt
T el it He.”

at fegn faumiaeh —

Options:

(i), (i), (iii), (iv) fergmi st
913943119305

(1), (id), (iid), (iv) ferami
413943119308

(i) A (i) foram g
913943119307

(i) 21 (1) ferama st
913943119308
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W Gt =t wfowrgse @t ot e faar asdveds maw faan”

() “Fapr’ &t areaagefl Fdt qod GATAHER UH TRE! qaEh aedr.”
(i)« ‘greft i’ = Afrgergoa T EHAR AT Al wieEs A wida T

(v) “ ‘grfareft swfear wgean aiqaean “wishe ia A’ *fads vgm gl gea @
e Hreeg! fiat wmEe.”

Tt fegan favmiaeft —
Options:

(i), (ii), (iid), (iv) feramr =t
913943119305

(1), (i), (ii), (iv) Frami 5=
913943119306

() (i) e 5
913943119307

(i) A (1) ferama s
913943119308
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Afr=iea=a 7aF “firdia de-3at gi=dae,” s

Options:

913345119209 i

TeTeh Ueh @ FATHAT
913942119310

9123451159511, i

"fiaTa ¥eg ATt A1g Uk W rEaTa
913942119312, = e
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AlteTearea qam Frata Sie-3at diadrd,’ sRo

Options:

9133451159209 i



TeTeh Ueh @9 3THAT
913943119310

9123345119511, i

"frta wreg AT A1g Uhdewia Wil mHeET

9133451159512,
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“Feftere dorge’ & warddt wresTer ifEcaa WaeA g6l IwaErer SRt ?

Options:

_
913943119313, 110

9133451159514, 1798

913345119515 1760

_
913943119316, 100
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“Ferfieret dargn’ & Tarhd! v wifecaid @ 96l IETel A ?
Options:
-
913943119313, 1110

9133451159514, 1798

9123451159515, 1760

.
913943119316, 1100
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Faufhg=an T84 WieTdE S Fgt gHtes wE gl ATEATE T,

Options:




2913942119317,

9133431193515,

9133421152149 A,

g

913345119320
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Faufhgr=an 754 WiATdE S Hgt gt B gl ATEATE ST,

Options:

9133451159317,

9123451159215,

2129421192149 A,

g

913345119320,
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& WTEFEETS TR WrEfa vew feuwmeattea wgHts g e fid.

Options:

S lias

913845119321,

9133451193522,

2123942119323,

2913942119324,
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o wrafasETea s wiafawE v RasEven vt g e .
Options:

Sz

9123345119521,

913845119322,

913345119323,

912345119224,
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WRAA-Hatdt &1 qEe Wi Farean o IuFesia fayufa o defam ot wat
TS,

Options:

Fetiteh

913345119325,

913345119326,

913345119327,

913345119325,
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WA Ta- At & qEe W Hereat o IuFesid feryufaT s efama qt wrat
HTETEAT.

Options:

Fetiteh

2913942119325,

913345119326,

913943110307 e



ECARIED

913845119325,
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(i) wEfE S Wi UG 91 g 7
(i) wrafes o wTE g S atelt Wi g .
(iii) TERe A S & wraT= A Arai e HAraTd.
(i) grftrf ‘smereardt’ § g wiEem g g
T fogf faam
Options:

(), (i), (iid), (iv) & =y faumi 9%
913943119329

(i) A (i) SR (id) A (i) g9
913943119330,

(1) R (i) T (i) A (i) T
913943119331,

(1) AR (i) TR (i) A (iv) T
913943119332,
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() wHfE S WS UG 91 g 7
(i) WTEfE ST W g A ateft wie ety W
(iii) HEh A Wk & HTETE ST Trai e .
(iv) rfepf “seererl’ § e s S T
T fogf faam
Options:

(), (i), (iid), (iv) & =y faumi 9%
913943119329

(i) A (i) SR (id) A (i) g9
913943119330,

(1) R (i) T (i) A (i) T
913943119331,

(1) AR (i) TR (i) A (iv) T
913943119332,
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T, HETHTA A 7 quvfies steETae ars, e A ugsanI I4ff aard. o smeH
& A1 1 ATGIHIAC! 91 YESAT R a9 A, Hiiid I Sargrean AR FE6T 6t Hard, T
HIEA ATqed o1 AT G A6 79 Tget Anard A gt AET™ & e 379 nardedt
a1 ArTeadshid wrdr ?

Options:

913345119533,

913345119534,

913345119535

912345119536,
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T, WETHTA A 2 gt steaTact ars, e gria ugsayI 34 aard. o smeae
g& 1 T AT 91 YESATgE a9 A, Hifid S Sargrean AR FE 6 Hard. T
HIEAT FTeehe 1 ATEATdel T a1 au TgS! Sard A g ATEE gE ST 9 naraedt
a1 ArATEdhIid Wrdm ?

Options:

913345119333,

912345119534,

912345119235

913345119536,
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‘G et farg, faardt sifimy’ & wiaraen wa=n AreayEnrE W S e ?

Options:

913345119337,



2913942119338,

9123451195349

213942113240
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‘geteh poreh fare, sifaarht sfime’ € wiardea = Areavsrrt @near sEa s 2

Options:

2123942119237

9133453119335,

9123451195349

TahTeht

213942113240
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‘419 E TR BTAEAT hIUTE T SrE T ?

Options:

gL FaT HETS
913943119341,

%t 3.3, HiE
913943119342

9123451159543,

EICIR
913943119344, “
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‘q1q’ E U BT VTS T SrE T ?

Options:



gL FaT HETS
913943119341,

%t 3.3, HiE
913943119342

9123451159543,

EICIR
913943119344, “
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‘ST aret FE 7 ST MATTEAT TH THIA Y wverd,

Options:

ECELEL

913345119545,

913345119546,

913343119547,

913345119545,
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GBI ATl FA B S TETIEAT Thl ST 13 TEvem.
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Fasarel

913345119345,

2913942119346,

912345119247,

9138451159345,
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‘Ggt’ 1t T T IataeA FEat arg St ?
Options:

9138451159249, o

2123942119350

2913942119351,

ST HTYH
913943119352 =
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Gt At Fown IAUTE FhA! Ay qrar ?
Options:

212942119249 o

2913942113350

913345119351,

ST HTYH
913943119352 =
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Faferrt Tt ATqaelt STl gt wiat w4 Sredt |,

(a) FTHER (i) wwe
(b) TeuM (i) =T
(c) WTHTOTRGAT (iii) 77,
(d) Frerdtara (iv) SFhr
(v) e
Options:

(a)—(ii), (b)—(i), (e)—(iii), (d)—(iv)
913342119352

(a)—(v), (b)—(iii), (e)(i), (d)—(ii)
912942119354



(a)—(iv), (b)—(v), (e)—(i1), (d)—1)
913345119555,

(a)—{ii), (b)—(1), (el—lwv), (d)—(ii)
913345119556,
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Fafersht aft Areqaelt St great wrat o et A,

(a) FTEER (i) =He
(b) qesdft (i) =i
(¢) GTHTUTehRas! (idi) 71T
(d) wretaTa (iv) Sahr
(v) e
Options:
(a)—(ii), (b)—(i), (e)—(iii), (d)—(iv)
913943119353,
(a)—(v), (b)—iii), (e)—(i), (d)—(ii)
913943119354,
(a)—(iv), (b)—(v), (e)—ii), (d)—(i)
913943119355,
(a)—{iii), (b)~(D), (e)—(v), (d)—(ii)
9139431149356,
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HTHTSh AU TR T Jied Siwvfae 93t Heal @g=t ?
Options:

qges At 9
913943119357,

912345119555,

9133451193549

912345119560,
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